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UGC NET PAPER 3 JANUARY 03, 2017 SHIFT 1 HISTORY QUESTION PAPER

Note : This paper contains seventy five (75) objective type questions of two (2) marks cach. All
questions are compulsory.

1. Match List-I with List-1T and select the correct answer with the help ol the code given
below :
List-I List-11
(Author) (Delinition of History)

(a) E.H. Carr
(hy  G.R. Elton
(c) J.B. Bury

(dy R.G. Collingwood

Code :

(a) (b}
(D (111)
2y () (1)
(3) (1v) (i11)
(4) (1v) (i1)

(c)
(i1)
(1v)
(i1)
(ii1)

All history is the history of thought.
History 1s science no less no more.
History 1s what the historian writes.

History is an endless dialogue between the historian
and his facts.

2. Match List-I with List-IT and sclect the correct answer with the help of the code given

helow :
List-1

{ Mesolithic site)
(a)  Birbhanpur
(b} Loteshwar
(c)  Paisra
(dy  Sarar Nahar Rai
Code :

(a) (b)

(ry (1)
(2) (1v) (11)
(3) (1) (11)
4 Ov) (1)

(¢)
(1v)
(i11)
(111)
(1)

(i)
(i)

(iit)

(1v)

List-IT

{Location)

Bihar

Guj

arat

Uttar Pradesh

West Bengal

(d)
(ii1)
(1)
(iv)
(11)
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TIE9T ¢ 30 U9 H TSR (75) F-TaheT U & | T U9 Al (2) SF E | |l U A €

1. -1 T GHEAT B0 SR 99 B 70 e T Tl 6 Wl I H T BN

-1 -1
(FITEF) (Sferera =1 afeT)
(a) EUE FX (i)  ToyoT ieere Tamn o iR & |
(b) =I.3TH. Tozd (i) /e @ &, 7 %9 T 174 |
(c) SiaEl = (ii1) ZTaerge =1 ot & a8l efae 7 |
(dy SRS FATEE (iv) =TEeTe. TERReR AR $0% a9 & ard Ie S
AEH WAR T |
T

(a) (h) (¢) (d)
(nm (111) (11) (1v)
{23 (11) (1) (1v) (111)
(3) v (111) (1) (1)
(4) (1v) (11) (111) (1)

2, WLl F LI W Y HT @ AR R T B % geEa § w6 e B 9ET S

-1 TEfl-11

(& TTSTOTaR T TIe) (TIT)

(a)  ARITR () fw

(b) TR (i) TPRE

(c) g (ii1) 3T U9

(d)y EEARETE (iv) WY=s e

A

(a) (b) (c) (d)
(1) (11) (1) (1v) (111)
(2)y  (v) (1) (1) (1)
(3) (1) (11) (111) (1v)
(4} (1v) (11) (1) (111}
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The carlicst evidence of transition from hunting and food gathering to animal
domestcation and agriculture in Indian subcontinent has been found at

(1) Anjira (2 Damb Sadat
(3)  Kile Gul Mohammad (4y  Mchrgarh

Criiven below are two statements, one labelled as Asscrtion (A) and the other as Reason (R)

Assertion (A) : Harrapan  civilization  was i close  trade  relations  with  South
Turkmenistan.

Reason (R) : [Harappan objccts or thosc produced under Harappan influence have been
found at Kish, Ur, Nippur, elc.

In the context of the above two statements which of the following is correet 7
(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) are truc, but (R) 1s not the correct explanation of (A),
(3)  (A)istrue, but (R) s false.

(4y  (A)s false, but (R)1s (rue.

The discovery ol metal was a revolutionary event in human history. Richest copper mines
occurrcd in which part of India 7

(1) Bihar (1) Gujarat

(111} Rajasthan (iv) Tamil Nadu

(1y (1) only (2) (1) and (111) only
(3) (1), Gy and (1) 4y (u), (n)yand (iv)

Which Rigvedic deity 18 more [requently invoked as being the most uselul as also the most
fearsome of the gods ?

(1y  Agni (2)  Dyaus
(3)  Indra 4y  Marut

Which text makes 1t evident that the Vedic Subha and Samiti were (wo separate
institutions 7

(1) Antareya Brahmana (2} Atharva Veda

(3)  Satapatha Brahmana (4)y  Yajurveda
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UT=eH 18T U 50 &

(1y &g (2) T AT

(3) Tt T WewE o (4) TRUEd

AT 77 AT 10 T &, U T R (A) I G FHHROT (R) T TAE |

HUT (A) 1 FEHT AT I FI0T TR o T T ST T o |

s

= o U g%

HWOT (R) : FEHE TR 3M0ET §8WT o TO/d H Iedmad Traur 5697, 3T, FoY 37
£

U S geRE] & o § A § 9w e g

(1} (A)2TT(R) AT TR € T (A) = T =7 (R) € |

(2)  (A) 3T (R) 3T eI &, o (A) I el =& (R) 781 & |
(3) (A)TRE HI(R)TAT 7 |

(4)  (A) TR & T (R) 2T €

o fer o7 7

iy TEel (i) T
(i) e (iv) afFerre
(1) =Fae (i) (2) A (i) AT (i)

(3) (i), (i) 3T (iii) 4y Gi), (i) AT (iv)

TS o A= SUANTT AR W 1 3w 6% aodl o U H hEe AU 9 gar a1 7
8

(1y &= (2) =™\

(3) T3 (4) TEd

ey 7 ¥ T P B A 7 o aferes v SR wimid a1 frey g o 2

(1) Ua™ F& (2) 3T9deR

(3) TR SITRTOT (4)  TS[ERE
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The followers of the Ajivika sect were also known by which other names 7

(1)  Hatthapalckhana (11y Ekadandika

(111} Magandika (iv) Tedandika
Codes :

(1y (i) and (i1) only (2) (1) and (111) only
(3) (1), (11) and (111) (4y (1), (111) and (1v)

Match List-I with List-II and select the correct answer with the help of the code given
below :

List-1 List-I1I
(Mahajanapada) (Capital)
(a)y  Asmaka (1)  Hataka
(h)  Avanti ()} Mahishmat
(¢)  Ched () Potal
(d) Kamboja (Ov)  Suktimat
Code :

(a) (b) (¢) (d)
(ry  (uj (i) (1v) (1)
2y () (i) (1) (1v)
(3) () (1v) (1) (i)
4y () (ii) (v)y (i)

The “Indica’ of Mcgasthenes 1s lost, but it survives in fragments 1n the writings of which
Greeco-Roman authors 7

(1)  Krtcsias (i)  Pliny the Elder
(111)  Diodorus Siculus (iv)  Strabo

Codes :

(ly  (v)and (1) (2y (1), () and (1)
(3y (1), Gy and (v) 4y (0 and (1v)

Which one ol the following 1s not true about the Rumminder Pillar Inseription ol Asoka 7
(1) Ttis located at LLumbini, a place Asoka had visited personally.

(2)  Itcommemorates his visit to pay reverence to the Buddbha Konakamana.

(3)  Asoka made the village LLumbini ree of the bali payments.

(4) He reduced 1ts land revenue o one eighth.
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STSAEas TR & ATl o1 T 2= 190 § A7 ST ST o7 2
(i) @eATerEm (i) TUHEUEH

(i) == (iv) d=frzes

E

(1) et (i) AT (ii) (2) A (i) 3 (iii)
(3y (i), (i1) 3T (i) (4y (i), (i) &% (v)

-1 7 T T G FIA0 K T RO 0 F2 F TErEar § T8 36 99 A
-1 -1
(FETSTUS) (TTSTENT=1T)
(a)  3TEHE () @
(b) efE= (i) TS
(c)y =M% (iii) O
(d) =FwEIRT (1v) HW

(a) (b) (c) (d)
(ry () (1) (1v) (1)
2) (i) (iii) (1) (iv)
3y (1v) (i) (i1)
@ (i) (it (iv) (iti)

TIEH! =l Faar § I9 TLE 2

e o -

(1) 2ZFaL (il) T T Tl

(iil) EHEERT RHerd (iv) @A

B

(1) (i) 31 (i) (2) (i), (ii) 3 (i)
(3) (D), (iii) ¥ (iv) (4) (i) & (iv)

[TToTEd O O i 21976 & S-es Wofold & [@ug O 98] Jal & 7
(1) = e & ferm &, FormR eTees 31 T 2w & o |

(2)  2T9 & R &5 FHIVHE I FFT-HO 30T LT ol AT I T SHH TAMT 7 |

(3)  2T9ISH A o U 2T GTel-SJad o 9R H ToT &Y 22T |

4y 3T ama:qmmazmmmiwww !
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Who visited the court of Bindusara as an cnvoy of the Syrian emperor ?

(1y  Claudias (2 Demmachus
(3)  Diodorus (4)y Dionysus

Muatch List-1 with List-1T and select the correct answer with the help ol the code given

below :
List-I List-IT
(Missionaries deputed by the (Respective Areas)
third Buddhist Council)
(a) Majhantika (1) Kashmir and Gandhara
(h) Maharakshita (1) Maharashtra
(¢) Mahadharmarakshita (111) Suvarnabhumi
(dy  Sona and Uttara (1v) Yona
Code :

(@) (b) (¢) (d)
(0 (1v) (itiy (i)
2y () (1v) (1) (1)
(3)  (iv) (iii) () (ii)
4y (1 (1) (i) (iv)

The Mauryan army was comprised of

(1y  Inlantry (i) Cavalry

() Chartots (1v) Elephants

Code :

(1} (1) and (i1) only (2) (1) and (111) only

(3) (1), () and (1) only (4y (1), (), (unyand (Ov)

Which of the following Tamil poets were associated with Kanchi ?

(1)  Appar (i) Paranar

{111y  Mamulanar (1v)  Sundaramurti
Code :

(1y (1) and (11) only (2) (1) and (1) only

(3) (1) and (iv) only (4y  (11) and (1v) only
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IR & THIZ & 39 o €7 7 [F59R &1 TS T S S0 o7 2

(1) weAleag (2) erEHEd
(3) <ERERA (4) SEIEE

GT-1 N GA-1] T GHTeTd T 3R G4 50 70 F &7 Tl § 9al It 1 997 ST

-1 -1
(TR &g | | (37T &)

= £

Iv-lf:!t*rl U=l )
(a) ¥ EaEr (1) FIAR 3T THR
(hy TR (11) HENZ
(¢) wRTERTRfe (ii3) g
(d) HIvT & 3 (iv)

B

(a) (b) (¢) ()
(y () (1v) (111} (1)
2y (i) (iv) (i) (iii)
) (iv) Giy () (ii)
4y (1) (1) (1) (1v)

A o1 1 giefiod o

(i) T (i)  2TeATTED

(i) ™ (iv) T

E A

(1) =3t (i) & (i) (2) A () T (i)

(3) e (i), (i) AN (iii) (4) (b, (i), (iif) FX (iv)

frefatEa 7 9 M 9 afde g el ¥ aaEfad 4

(i) AR (i) ™I

(iit) FTTEHER (iv) T=

FT

(1) e (i) AR (ii) (2)  Fae (i) 3 (iii)

-

(3) A (i) AR (iv) (4) A (iii) 2 (iv)
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Harishena, the author of Prayaga Prasasti held which of the following offices 7/

(1) Khadyatapakika () Kumaramatya
(i11)  Mahadandanayaka (1v) Sandhivigrahika
Code ;

(ly (1)yand (1)

2y (v)and (1)

(3} (1), (1) and (1v)

(4y (1), (11), (111) and (1v)

Which among the following is the bigeest Jaina image 7
(1) Monolithic image of Gommata at Shravanabclagola
(2)  Parsvanatha image of Gwalior

(3) Jamaimage n the Udaygirt caves

(4)  Parsvanatha image of Bhojapur

Which of the following inscriptions ol Samudragupta describe him as a ‘Parama

Bhagavata™ ?

(1) Gaya Copper Platc
(1)  Nalanda Copper-plate
(1) Eran Pillar Inscription

(1v) Allahabad Pillar Inscription

Code :
(1y (v)only (2} (1) and (11) only
(3) (1) and (1v) only (4y (1), (in) and (1v) only

Which new type ol gold coins were started by Kumaragupta 1 7
(1) Apratigha Type

(i1)  Elephant Rider Type

(i11) Rhinoceros Slayer Type

(1v)  Sword Type

Code :

(1y (i) only

(2) (1) and (1) only

(3)y (1), () and (uny only

(4y (1), (11), (111) and (1v)
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T USIET T e 20T [Tt 9 6 [T T8] I SITE o 2

() TERUEE R
(1), “Hele gl (iv) Sraletiee
A

B

(1) (i) 3T (ii)

(2) (i) 3T (il

(3) (i), (iii) 3TN (iv)
Ay (i), (1), (ii1) 3T (iv)

FfeIEd O ¥ & 9a9 oot 5= Jidaq & 2
(1) STAUTEATAT T TTZ 1 THHE YT
(2)  TANCTER T ATET U]

(3)  SEAN &1 &1 =1 ia]

(4)  IFTT T UTESAT T DTeer

ST % eteiad fe sifaeral § 39 TH-amE e T E )
(i) T -0

(i)  ATeT=T Y=g

(iil) U7 T ohg

(iv) SelRTErs e o1y

%<
(1y e (iv) (2y  HEA (1) T (i1)
(3) A (iii) I (iv) (4)  Fad (1), (i) FAT (iv)

AR T T M § T TR o w07 freeh g T g
(i) 20l TR

(it) TSR UHT

(i) EE-TE=T vehT

(lv) EgT UL

E

(1) et (i)

(2) =R (i) AW (i)

(3)  EA (i), (31) AT (i)

(4) (i), (ii), (iii) 37T (iv)
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Match List-I with List-II and select the correct answer with the help of the code given

helow :
List-I List-I1

(Dynasty) (Founder)
(a) Uttar Gupta (1)  Krishnagupta
(b) Maukhari (1) Asvapati
(¢) Pushyabhuti (111) Naravardhana
(d) Varman (1v) Pushyavarman
Code :

(a) (b) (c) (d)
(1y (i) (i) () (iv)
2) (D) (v)  Giy (D)
3y () (ii) Gii)  (iv)
@ (v O (i) (iii)

Apart from Harsha the Chincse traveller Yuan Chwang had occasion to mect which other

contemporary rulers

(1) King ol Gauda (1) King of Kashmir
() King ol Kanchi (1v) King ol Valabhi
Codes :

(1y (1), (11) and (111) (2y (0, (111) and (1v)
(3) (1), (i) and (1v) (4y (1), (111) and (1v)

Given below are (wo stalements, one labelled as Assertion (A) and the other as Reason (R) -

Assertion (A) @ The Pallava king Mahendravarman I, also known as Vichitra-Chitta,
was a man of unstable mind.

Reason (R) :  He professed Jainism for a time, but discared it in favour of Sarvism

In the context of the above two statements which of the following is correct 7
(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are truc, but (R) 1s not the correct explanation of (A).
(3)  (A)1s true, but (R) 1s falsc.

(4y  (A)is false, but (R)1s true.
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20, TE-1 G-I T GHE FIC 2R T =70 70 F2 # TeEar § 921 9 1 T=T Hie

- -1

(TTSTEI9T) (T
(a) TR (1) PO
(h) TEfT (i) rvEmra
(c) g=rgd (iii) "Res
(d) = (iv) T
e :

(a) (b) (c) (d)
(n (111) (1) (1v)
{23 (1 (1v) (1i1) (11)
(3) (1) (11) (1) (1v)
(4) (1v) (1) (11) (i11)

21. B9 % Afaiia ST ardr AT <o 6 o T THeTe YR ¥ MHet o e e o 2
(i) T =
(i) SHFHT T
(iii) =Tl T

(iv) BTl 73T

%<
(1) (i), (i) 31T (iii) (2) (i), (iii) 3T (iv)
3y (i), (i) 31T (iv) (4) (i), (iii) 2R (iv)

22. 7 S ST WY I E, U A (A) ST GEL B FROT (R) FET TG
HAF(A) ¢ TooTa T OEsET 1, o faTemem 9l w1 S 9 U STeIT AT 9 AT
o | iR
BRUT(R) : Rl 0 o8 < 99 T SR 1, ohe] S8 SIS o8 39 97 J Fell T4 |

SUE S geTeA & gad U HEiEd § H %A 9 Wl § 7
(1) (A) 3T (R) SHT 981 & 2T (A) = T& =& (R) & |
(2)  (A)#C(R) T T2T & T (A) i T&l =& (R) Te1 € |

(3) (A) W& g (R) ™ § |

() (A) TR E g (R) WA
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Which among the following tcmples has a Dravidian type of Sikhara ?
(1) Ananta Vasudeva temple, Bhubaneswara

(2)  Kandariya Mahadcva temple, Khajuraho.

(3) Lakshman Temple, Sirpur

(4y  Tecli ka Mandir, Gwalior
Which dynasty of South India claimed that 1ts ancesters had ruled at Ayodhya ?
(1y  Chalukyas of Kalyan (2)  Cholas

(3) Pallavas (4y  Rashtrakutas of Manyakheta

Sri Jaya Indravarman Maharajadhiraja of the Bhrigu family was the ruler of

(1)  Champa (2)  Java
(3)  Kambuja (4)  Pagan on Irawadi

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) ¢

Assertion (A)

Bhandarkar cquates the Virashaiva with the Lingayat scct and traces 1ts
origin (o a split in the Aradhya school of the Saivas.

Reason (R}  :  Acceptance of Brahamanical rituals and caste ascendency constitutes the
core ol the Lingayat movement.

In the context of the above two statements which of the following is correet 7
(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A)istrue, but (R) s false.

4y (A)is false, but (R} 15 truc.

Consider the following statements about Fakhr-i Mudabbir and his Adab-ul Harb wa

Shujaat.

(1) Tts a work written on the science ol warfare n the early years of Htutmish’s reign.
(1) Fakhr-1 Mudabbir praises highly the swords made in India.

(1) Mudabbir mentions that the on was smelted at Khetrt in Rajasthan.

(iv) He offers the carlicst known description of the technique of producing Damascus
Beel:

Sclect the correct answer from the code given below :
(1} (1) and (ii1) (2y (i) and (1v)
(3) (1), () and (u1) (4y (1), (myand (Ov)
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fr=TatEs 9 9 g 9= & 918 31E e #5182
(1)  YEFYER 1 379 e "y

(2) TEREI H FHRIE FgRd dia)
(3) TogT =1 s1emo gy
(4)  TAMCTEK T AT T FET

< feToT AT 3 o STl S FE STeT O Toh 3Heh el 3T 9T e e o 92

.

(1) A % =TT (2) =

(3) Ted (4) WG % UL

YT E9T 3 AT T T5at] HERISERST o Toh U¥ P fear 7 2
(= (2) ST

(3) =R (4)  TEE] 9 T W

A fET STAT SRSl | H U U (A) T T HHOT (R) 2

FHUAT(A) : TSRHT A V6l FH o ad TIEH o THeRT 1@ & 31T Se6T TR V6l & TR
el HAETE |

HIROT(R) + SITETOT SHepie] a0l S A o UHed i Wil fermead ferer o qof awel € |
SR 2 T g § enEd § e 6 36 v ¥
(1) (A) 3T (R) SHT |Wel & a1 (R), (A) T Tel =2 & |

(2)  (A) 3R (R) SHT Tl &, efish (R), (A) i Hgl =0l 761 5 |
(3) (A)WIE W(R)TEAE |
4) (A)TERE TW(R)TIE

FE-U TR AN 301 2TRE-361 59 a1 I % T8 1 MEeiEd 941 9T [aar F:1

(i) o AT 3 WA ¥ A T § g7 9 e o mg fea o
(i)  TFE-U el T ORE T F9 T B awiE o

(iii) Tefer = foran & o st & Tagl 9 o & 26! & o1 1 19 &7 47 |

(iv) oF STH9hl W6l A1 &l Jad GUHET 310 o6 F aUH el § |
(1 (i) 2 (i) (2) (i) AW (iv)
(3 (i) (i) 37T (i) (Y (i), (i) 3T (V)

prepp

Your Personal Exams Guide



www.prepp.in

28.

29,

Giiven below are two statements, one labelled as Assertion (A) and the other as Reason (R)

Assertion (A) ¢ Sultan Zamnul Abidin was a great patron ol learming and surrounded
himsell with learned men with whom he was lond ol holding discussions.

Reason (R} : Scholars like Saryid Muhammad Rumi, Qazi Saivid Alr Shirazi, Qazi
Jamal and Saryid Muhammad Sistani left their countries and emigrated (o
Kashmir during his reign,

In the context of the above two statements which ol the following 1s correct

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are truc, but (R) 1s not the correct explanation of (A),

(3)  (A)istrue, but (R) s false.

4y (A)is false, but (R} 1s truc.

Consider the following statements on Ulugh Khan's (Balban) relations with the Afehans ?

(1) Ulugh Khan recruited some 3000 Afghan mnto his army.

(11}  When Ulugh khan became sultan, he placed the newly created mulitary outposts near

Delhi such as Patvali, Kampil and Bhojpur under Afghan control.
(1) Sultan Balban appomted Afghan noble Ikhtiyaruddin as wazir.
(1v) Sultan Blaban appointed scveral Afeghans as governer.

Select the correct answer {rom the code given below ;

Code :

(1) (1) and (i1) (2) (i) and (111)

(3) (1) and (1v) (4)y (1), (11) and (1v)

The Sultan ordered , “Whatever they cultivate ... should be assessed by measurement n

accordance with yicld per biswa, and all of them should pay halt without any distinction.”™

In the above statement which ol the following Sultan had asked the measurement ol land as
the basc of assessment ?

(1) Ihutmish (2)  Alauddim Khalp
(37 Mubhammad Tughlaq (4)  Firuz Tughlag

Which of the following statements about Amir Khusrau and his music are correct

(1)  Amir Khusrau studicd the Daccani music of the Karnataka School.

(1) The great exponent of Deccant/ Karnataka music Nuatk Gopal was the contemporary
of Amir Khusrau.

(i11)  Amir Khusrau applaud’s his invention of sitar in his work Ghurrat al-Kamal.

(1v) Later works credit Amir Khusrau inventing about nineteen melodic  forms,
particularly khval, tarana and gawl.

Select the correct answer {rom the code given below ;
(1) (1) and (i11) (2) (i) and (1i1)
(3 (1), ) and (v) 4y (. () and (1v)
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AT =T AT M E | O BB (A) SR AL BT (R) R T E

FHAT(A) 1 ToaH e ANFRF I % d6d 92 Tt 9 2 o FE o I B @ o, 56
T =491 AT 3¢ 997 97 |

FHROUT (R) : 3 IMEHICT o SR U2E TEHg SHI, Hisl T 376l ORI, sl S/l a9
T Yate AT 270 370 5911 ] BIeh YU H 3eaTg &Y 7T |

SRS ST g9aeA] o 9y H, FETeigd § W i 91 1§
(1) (A) 2T (R) AT T2 € 741 (R), (A) T T8l 50 & |
(2)  (A) 3R (R) TFT T &, oI (R), (A) ol Tel A2 BT ¢ |

(3) (A) W& g (R)TTE |
(4)  (A) T B, TR (R) TR E |

STORITHT o6 T 3o @ (dofed) & HadT o 9ay | feieied s394 o 5= 1

(i) SO W A AT G H AT 3000 STETHET 98 T 9 |

(ii) <T@ 3P @H Forae a1, I8 Goell % e gearel, Hie 31X 9o § 2404 98 T4
=R TS 2 37 TR o 0T O 3T |

(i) GeTarT Sefa F ST SN FETarsE e B SO g g fF

(iv) EETar seTe 7 2 SETET Sl AT Tae FEer fHar |

ohd

(1) (i) 3% (i) (2) (i) 3T (i)

(3) (i) AN (iv) (4) (D), (i) 3R (iv)

ST =G, 3T TRl [997 Shal Sa97e o SO 26T ST6T &1 =60 |7

S FF T {6 GeAdr = S H A A & TediehT ol SR FE
(1) e (2)  TATSEN oAl
(3) WS TIRT (4) RIS TTon

TR G 41 39e6 T & a1 H eieiiad 4 9 %4 9 %99 961 6 7

(1) YO GO F FAZEH THel & el G T Teyge R o |

(ii1) TR G 9 Tan &1 37947 @51 F1 T9ET 3701 95T T 3Te-%07e H & & |

(iv) &g Tdl T STAR GO I T o AT F19 T S 97, T Y G, TET 7201 e
EIREISEIE PRECIRIE I

() (i) 37 (i) (2) (i) 3 (i)

(3y (i1}, (i) 37T (iv) 4y (D), (i) T (v)
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Giiven below are two statements, one labelled as Assertion (A) and the other as Reason (R)

Assertion (A) ¢ The Indian tradition regarding  statecraft was not completely eclipsed
with the coming of the Turks and continued in many peripheral arcas,

Reason (R} : The writings of the Vijaynagara ruler, Krishnadeva Rava, Rajasthani
Vigat and Khyat Iterature and Ramchandra Amatya’s Ajnapatra provide
useful information on Indian statecralt.

In the context of the above two statements which ol the following 1s correct
(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) i1s not the correct explanation of (A),
(3}  (A)is true, but (R) 1s talsc.

4y  (A)is false, but (R) 1s truc.

Naphta and Mangonels were used for the st time in India in which of the following place/
region

(1y Sindh, 712 (2)  Khajuraho temple, 950

(3)  Deccan, 1130 (4)  Panipat, 1526

From the following identify the place where Sultan Alauddin Khalji declared himsclt
Sultan or ascended the throne :

(1) Awadh (2)  Delhi
(31 Allahabad 4y Kara

Match List-I with List-II relating to terms and their meaning

List-I List-IT
(Term) (Meaning)
(ay Baggal (1) The lowest grade ol agricultural

persant

(h) Balahar (11) an armed man
(¢) Silahdar (111) a group of ten thousand soldiers.
(d) Tuman (1v) grain traders

Sclect the correet answer from the code given below :
Code :
(a) (b) (¢) (d)
(v (1) (111) (1)
2y () (111) (1v) (1)
(3) () (1) (111) (1v)
() 0v) (1) (1) (111)
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= T2 =T ARy § Y s O (A) 99T A HRT (R) T

T (A) 1 ToF TR T YRA™ T T o A ¥ R/ e T 90T 76l g8, & e S
#7T | SR W@ |

HWOT (R) : [aSToTR & I Foad T 1 A1, TSH] aiTd 991 @ e 3T T8
2T 3 ST IR T SHae] UE i O STANT TeAn Ve F3d & |

S FUAT % e § FEaiEd § 9 B a9 36 9 E
(1) (A) 3T (R) 59T W& & 741 (R), (A) & el AN |

(2)  (A) xﬂtﬂ_ (R) Eh:h— E‘_Eﬁ- E:":_ T (R), (A) T {'|E':.I — ,_l(a'"'l' %_ |
() U\}ﬂﬁT%‘q‘Q‘{R\’W%l
(4)  (A) TR & SR (R) Tel &

TATFT AT FIRT T WENT YA § Waugy EAred 7 ¥ e e 1 e ey 2

(1) fag 712 (2) EsIIE 15, 950

(3) =FEE, 1130 (4) U, 1526

Ao T ¥ 39 TAF ] g9 IS0 STl Gerdl SAeTSE T Fotstl 7 W63 &l et =i {5

(1) =4 (2)  TEooll
(3) =IEER (4) el

W T I A9 Q:r {lﬂTﬂT‘[ {-l\r.]“]_[ = qqc\_f[_“ %ﬁwg{ W;F' = ﬂ\ :
[ ﬁ-I Fﬁ-ll
(9Tex) (37eT)
(a) TEHICT (i)  forart =hr e o

(b) FABR (i) U TIre =E
(¢) TeRER (i) TH TSR UHH F UH THE
(d) g (iv) 2T =R

T U Y % § ¥ TRl ST H T8 HW
A

(a) (h) (c) (d)
1y Gy Q) Gi) (i)
(2) (1 (111) (1v) (i1)
{:3) (i1} (1) (111) (1v)
4y  (v) (1) (1) (1)
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Which of the following suti saints popularized the Qadiria order in Punjab and Sindh 7
(1y  Shatkh Muhammad al-Husaint and Shatkh Abdul Qadir

(2)  Shaikh Wapihuddin Ahmad and Shatkh Mubammad Ghaus.

(3)  Shaikh Abdullah and Shatkh Qazin

(4y  Shaikh Phul and Shatkh Burhanuddin

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R)

Assertion (A) @ Muslim political thinking was also shaped by the Adab literature.

Reason (R} : The Adab literature was, to some cxtent, influenced by the Panchatantra

which was introduccd 1nto Arabic litcrature by Ihn al-Mugafta’s
translation of Kalila wa Dimna.

In the context of the above two statements which ol the following 15 correct
(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)istrue, but (R) s false.

(4y  (A)is false, but (R)1s true.

Which of the following pair (Author and Source) 18 not corrcetly matched ?

Author Source
(13 Nizamud din Ahmad -  Tabagat-1 Akbari
(2)  Muhammad Kazim —  Muntakhab-ul Lubab
(3} Abdul Hamid Lahori —  Padshahnama
(4)  Kewal Ram —  Tarkirat-ul Umara

Which of the following 1s not correct ?

(1) Akbar divided his empire into twelve territorial units. These were called Subas.
(2) A Suba was divided mto a number ol Sarkars.

(3) A Sarkar was further divided into Parganas.

(4y A Pargana was further divided into Shigs
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36, feAfETEs § O R g G 3 el Taargel s U a9y {99 1 AR aarn

.

(1) ¥0E qgHT 3Te1-gHrT o1 I 375501 ey

(2) V@ TGIEM IEUT a1 I RIS

(3) T AEeAR a7 I HE

(4) INE FeT T I FEFEM

-

37. ST AT AT T U AT (A) T 580 FROT (R) §

FHAT (A) 1 THETH TSI = F 28 Glged = 97 WEd U5 & |

HROT(R) @ AR Wifeed F& 23 7% Taa F yiad o1, a9 g7 SFa-qesH & a7ae
AT 3 T T FET Wiieed H Uad 2 gl ol |

I AT & Ta H AHIeRd H H Hel 3 97

(1} (A} 3T (R) TAT T E T91 (R), (A) T T8 =T E |

(2} (A} 3T (R) TAT TR & AT (R), (A) T TET =T el € |
(3) (A)T& WR)TOTE |

(4) (A)TEI T AR(R) WETZ |

38. THEATEd H | iE@eh 37T i Rl b | STial Tl "8l § 9
GEEED Frer

(1) [=IEM as - ad@a-T e

(3) ¥ BT RN~ IRYTEAE

-

@) I T —  eRhA-3 I

39, TroEa 9 9 59T 98 98] 6 7

(1) 2T T 270 THST & 9NE UL ZhEal T [GqTTd & Gd1 AT | S8 a1 &gl STal o |

(2) U TR T TR T AT 2 e |

(3) UF UK & TUET H feraif=ia far siar o1 |

(4) U T ) T T e Toran e a4 |
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Which of the following statements arc correct 7

(1) The leading noblcs and scholars such as the great litteratcur, Khan-1 Khanan Abd al
Rahim, and the leading theologian, Shaikh Abd al Nabt were charged with
responsibility for cducation of Prince Salim,

(1) Well versed m Persian and Hindi and with a respectable knowledge of Turk:, Prince
Salim also posscssed a good grounding n History, the natural sciences, geography,
martial skills and theology which were considered appropriate for a prince.

(1) Prince Shahjahan excelled in the martal arts. He possessed great military prowess.

(iv) Prince Shahjahan, who was born in Ahmadabad, ordercd repairs to both Mughal and
pre-Mughal buildings there, revealing a his interest in the maintenance ol older
structures.

Choose your answer [rom the code given below :

Code :
(1) (1) and (ii1) only (2) (1), (i1) and (1v) only
(3 (uyand (iv) only (4y (1), (ny and (1) only

Match List-I with List-I1 relating to Books and Authors ;

List-I List-II
{Author) {Book)
(a) Catherine B. Asher (1) Mughal Architecture @ An Outline of its History and
[Development.
(h) R. Nath (1) Architecture ol Mughal India
(c) A J. Qaisar (111) History of Mughal Architecture.
(d) Ebba Koch (1v) Building Construction m Mughal India @ The Evidence

from Painting.

Select your answer lor the code given below :
Code :

() (b) (c) ()
(1) (11) (1) (111) (iv)
(2) () (my  Ov) ()
(3) (1) (11) (1i1) (1v)
@) 0wy a1 (1)

Onc of the innovation of the Mughals in building technology was pre-fab wooden
structures. These portable homes were known as bangla in the seventeenth century Irom
which the Anglo-Indian word “bungalow’ is derived. Which of the following Mughal

emperor 1s credited with this mnovation 7

(1} Akbar (2)  Jahangir
(33 Shahjahan (4)  Aurangreb
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FTArEa 7 8 B 9 T W@ F 7

TN fagTAT 1 SRS T 1 {91 =1 Sifaee 9 7E |

(i) V=TT T™ & GREL Bl 991 FF &5 d% T 9 FH ST 9 491, 3R T 7 T
ORI, UTHIde &9, e, g el o9 9IS H 38T SIMwRl o, B i
ITESTS o ToTT ST T STar AT |

(iii) V== ¥EsTel g5 el § Y07 41 | 97 T HRTel ° Wied 27 |

(iv) STETRTE T S YESTY YISl & el et a9t Tel e O U4 i TOE] i TR 6
ATETT FHT Y TR I ST 7 270 79 BEmg |

T

(1) =& (i) 2 (iii) (2)  F@d (1), (ii) FR (iv)

(3) AT (ii) AR (iv) (4) WA (i), (1) AR (iii)

AT T STl & T -1 0 -1 36 | I il .

L

-1 -1

-

(Fitren) ()

(a) <RI AL TSR (i) TSl A<l U 373 3% 32d 53] UIE Saeiae

(b) AR T (i1) TR 31T T Srea

(¢) U R (i) Te¥et & e effereray

(dy UEET (iv) Tefeem ez 31 qet e « T gfergw wim tien
% :

(a) (b} (c) (d)

(1) (11) (1) (111} (1v)
(2) (11) (111} (1v) (1)
(3} (1) (11) (111} (1v)
(4) (1v) (111) (11} (1)

el % T9F T 98 FH0T % G 0 U S AdEdr TS 98 AT Yel-FHa AeREl & @l &
TS | 3 Ush SWE § §E S @8 of S A =10 1 Todl Tal T aHTell el STar o, e
e T ATV A2 H Sl T T 5 AT | 39 T8 T o 249 [ T SReE o
s %’" '?

(1) =R (2) SRR
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Consider the tollowing statements relating to various gaz used in the Mughal empire :

(1) Abul Fazl mentions that Humayun's gaz-1 Sikandari consisted ot 32 angusht (digits)

(i1)  Abul Fazl records that the length of gaz-1 Ilahi was cqual to 41 angusht.

(it1) The length of dira (gaz)-1 Shahjani was cqual to a little less than 33.5 angusht.

(1v)  Tuzuk-1 Jahangin mentions the length of gaz-1 Shary as 26 angusht.
Select the correct answer from the codes given below :

(hy (0, (nyand () (2) (1) and (1v)

(3) (1) and (1v) (4y (1), (111) and (1v)

Griven below are two statcments, one labelled as Asscrtion (A) and the other labelled as

Reuason (R) :

Assertion (A) ¢ The European trade m mdigo became very important in the lirst hall of

the seventeeth century, alter which 1t experienced a sharp decline.

Reason (R} : Therc was rise in the price of Agra indigo and the competition from the

slave-worked plantations cstablished in the West Indices.
[n the context of the above two statements which of the following is correet 7
(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).
(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A)istrue, but (R) s false.

4y (A)is false, but (R)1s true.

Which of the following statements is not correct ?

(1) Sarrafs (moncy changers) specialized in issuing hundis to cnable remittances to be

macde,

(2)  Hundi was a negotiable document, usually translerred at a small discount.

(3) A single rate of ‘exchange’ was lixed for hills drawn at one place upon another

rrespective of remittance or credit.

(4)y  The hundi itsclt specified whether it was to be payvable on sight, or payable at the end

of a particular period after its presentation to the drawcee.
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e STeT § T o TEST T o w9e g v e oY e i

(i) Aot Hotel = Toran & fa O] o6 1.0 feehadl 32 37T o |

(ii) AT ToTol I § 5 1.1 2016l &6 ofale 4] 3752 3 aas o7 |
(iti) ERT ()T YRR 33.5 ST § ofver T o |
(iv) -0 ST ¥ A & o -0 9NE W FAArE 26 e |

AT B e Fl TETHd § Hel ST F T H

(1) (i), (if) 31 (iii) (2) (i) AT (iv)

(3) (i) 3 (iv) 4y (ih), (i) 2T (iv)

AT 7 F9e 50 U & | U W U (A) AT g3 T BRI (R) FHET 4T 8 |

FAA(A) ¢ T TR % [EE W AT 6 A SR I el S T o 3 Tk
Ty SEH 9l FEe 21E |

HROUT(R) : AR % =i & God H Jhg g5 a1 acessl 4 e anmr, S8l a1 | & o, 9
T T &7 7T |

ST S el o e H et 5 W e a1 E 7

(1) (A) 3 (R) SHT |8l & 4T (A) I Tl &= (R) 7 |

(2)  (A) 3T (R) 3T T&l & o] (A) 3 Wel =& (R) 78T & |
(3) (A) W& &< (R) TAd & |

(4)  (A) TR & T (R) TRT € |

rATET W | T W 9T TR R R Y
(1) ST g% 9 & M o [oT0 GO (5 <o) o geel STRI e 7 faristar o o |
(2) T2 U Tk AR o AT ST, ATET 97 S EEAiaRT &1 ST o |

(3) UH WF G TW ©E F oY 70 0 fael & A o6 Te e % T aeen 50 &
AT S UF BT 5L T o6 ST v |

(4) TS U U T B T gl A1 {6 6% qehiel €1 59 € Al 5781 UEH o U H F
wamﬂﬁrr.\{nﬂ 7T I LT T |
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Which of the following statements arc correct 7

(1)  There was tradition of an annual ‘sarbat khalsa® at Chak Guru (Amritsar); but
dissensions grew apace and each chiel tended to carve out a separate territory for
himsclf,

(i1)  The Dasam Granth contains compositions of Guru Gobind Singh.

() The Gurus were Khatris and their principal lieutenants, the masands, were also

Khatris.

(iv) The military power of the Gurus reached its apex under the tenth and last Guru,
Gobind Singh.

Sclect your answer from the code given below

Code :
1y (1), (nyand (1v) only (2)  (u)and () only
(3) (i), (111) and (1v) only (4y (1) and (ii1) only

Which of the following statement 1s not correct ?

(1} Persian was not only the language of higher administration in the Delhi Sultanate and
the Mughal cmpire, but had also spread to the courts of the Rajput states.

(2 Siajuddin Al Arzu propounded the view that Persian and Hindi had fundamental
affinities.

(3) Tck Chand Bahar quotes poets and prosc-works in his Bahar-i Ajam which was
written in 1639-40,

(4y A new language Urdu, sprang from the interaction of Persian with Hindi dialects,

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Jcan de Thevenot, a French traveller writes that the people of Surat

commonly do not drink the water of Tapti river.
Reason (R)y @ The water of river was brackish.
In the context of the above two statements which of the following 1s correct ?
(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).
(2)  Both (A) and (R) are truc, but (R) 1s not the correct explanation of (A),
(3)  (A)is true, but (R) 1s falsc.
(4y  (A)s false, but (R)1s true.
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I

ST 2 T TEEAT ¥ Tel AL N TG F

(1) (), (i) 3 (iv) %A (2) (i) 3 (iii) Faw

(3} (D), (iil) 2 (iv) FaoT (4) (1) AR (iii) Fa=

AT 5 W i W 59 T8 T/ 8 7
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U] o FLART o A1 FeAl g8 47 |
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(4)  HITEN o TEET ol TR Siieral o HTR H A § U g I I R W AT |

AT 37 aEsd 80 M0 E | U 1 S (A) ST THL T T (R) a1 T E |

HAT (A) : SHE T S € e 3 forar & R 9Ra § e e @ o8 ave 6 s o 6
ord |

HIWUT(R) : 51 &1 O GHT €7 |

S S gaaeAl o $ay | FEieiEd 0 9 % 9 Tl 8 7
(1) (A) 3T (R) AT T € T (A) o T&T ST (R) € |

(2)  (A) #T(R) T TaT & T (A) i T&l =& (R) TeT € |

(3) (A) Tl e, g (R) T € |

(4)  (A) TR & T (R) 92T € |
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49.  Consider the following statements pertaining to customs rates in the Mughal cmpire :
. ; 1 ; ;
(1) Abul Fazl mentions that 2— per cent was the maximum customs dutics under Akbar.

(i1) In Jahangir's rcign customs dutics were 3—per cent on all imports and cxports of

coods.

(111} In Shahjahan’s reign customs dutics were 2 per cent on money cither gold or silver,

(1v) Aurangzeb lixed a higher custom rates for non-mushims. That 15 why Mushm
merchants smuggled goods belonging to Hindus to cvade higher customs rate.

Sclect the correet answer from the code given below
Code :

(1y (1) only

(2 (1) and (1)

(3) (1) and (1v)

4y (1), (11) and (1v)

Sl Grven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R ;

Assertion (A) @ When Nizam ul Mulk arrived in the Deccan as the Viceroy in 1714, he
refused to accept Daud Khan’s agreement for the payment of the Chauth
and Sardeshmukhi of the Deccan to Shahu.

Reason (R) : Nizam ul Mulk inflicted a couple of defeats on them, and destroyed the
small mud forts which they had built in cvery district and which scrved
as a base ol attack or a place ol refuge to the Maratha bands.

In the context of the above two statements which ol the following 15 correct

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are truc, but (R) 1s not the correct explanation of (A),

(3)  (A)is truc, but (R) 1s talsc.

4y (A)is false, but (R) 1s true.

tn
[a—

When and where the “Socicty tor Translating Europecan Sciences™ was set up ?
(1} Bombay in 1825

(2)  Puncin 1830

(3)  Calcutta n 1825

(4y  lLahore in 1824
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(4)  (A) TR & T (R) 92T € |
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(2) 9w 8309
(3) HAFI T 1825 H

(4y TRRY 18241
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Match List-I with List-1I and choose correcet answer from the code given below :

List-1 List-T1

(a) Bakht Khan (1) Bareilly
(b) Maulavi Ahmadulla (i) Jagdishpur
(¢) Kunwar Singh (111) Lucknow
(d) Harzrat Mahal (1v) Faizabad
Code :

(a) (b) (¢) (d)
(ry (1) (1v) (1) (111)

(2) () (1v) (1) (111)
(57 (1i1) (1 (11) (1v)
(4) (1v) (i1) (1) (111)

Grven below are two statcments, one labelled as Assertion (A) and the other labelled as
Reason (R ;

Assertion (A) : The decline of the traditional handicraft cottage industrics was the result
ot British commercial policy.

Reason (R) : The imperiahist conquests had given immerse resources to the British.

In the context of the above (wo statements which ol the following 1s correct ?

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation (A).

(3)  (A)is truc, but (R) 1s talsc.

(4y  (A)1s talsc, but (R) is truc,

Griven below are two statements, one labelled as Asscrtion (A) and the other labelled as
Reason (R ;

Assertion (A) : The Liberals genuinely believed that there was a constitutional way to
India’s sell rule.

Reason (R) : They had an abiding faith in the Britsh senses ol justice.

In the context of the above two statements which ol the following 15 correct
(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation (A).
(3)  (A)1s true, but (R} 1s talsc.

4y (A)is false, but (R} 1s truc.
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TET-1 % T GAl-11 6 AT Y | FE R TETI T T ITC 90 |
i1 -1

T
(a) =T @M (i) =%
(b) HIeTa eTeeee (i) STTET
(c) FoR T8 (i) &=
(d) &d Heed (iv) HeTers
ohd ;

(a) (b) (c) (d)
(o (1v) (i) (111}
) (D) (v) () (iii)
3y i) O (i) (iv)
) vy (D) (i) (iii)

A 20 27 el § 6 U I (A) T ZE H (R) 7

HF (A) : URTNE SETRR FeIT SATT 1 g7 51297 ZTIes =iTe 61 UIoT o1 |

HWNUT (R) : FHAER! G2 7 @iesr 1 3/ TErT 3ueed FH0 o |

I =4 FYAT & 929 U 0 U 9 i 98 8 92

(1) (A) 3T (R) AT T E AR (R), (A) T T2 =AETE |

(2)  (A) 3R (R) THT Tl & W (R), (A) T Tel =N 6T & |
(3) (A& R(R)TAT& |

4y (A)TETE TW(R) W E |

1 fow &7 e H § U O (A) T GE FT (R)

FHA (A) ¢+ IEWERE] 9ree ¥ H9ems TEe ¢ T 9Re & T9nE 55 U SEe—e Jn a7 |

HUT (R) @ SToh! [Hcel AT & Wid g8 3me 4 |

SR ] Y] S H0E] T e T O & 9] TR ?

(13 (A) 2TT(R) IAT TR & T4 (R), (A) T T =AW € |

(2)  (A) IR (R) TAT &I & T(R), (A) T &I AT 6T & |
(3) (A) @& W(R)Tod & |

(4) (A)TERETW(R)TE |
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Ciiven below are two statcments, one labelled as Asscrtion (A) and the other labelled as
Reason (R ;

Assertion (A) : According to Vivekanand @ “Caste system 1s opposed to the religion of
the Vedanta.”

Reason (R} : All cvil comes from relying upon dittercnces. All good comes from faith
m equality, in the understanding of the underlying sameness and oneness

ol things.
In the context of the above (wo stalements which ol the following 1s correct ?
(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A).
(2)  Both (A) and (R) are true, but (R) 15 not the correct explanation of (A).
(3)  (A)is truc, but (R) i1s talsc.
4y  (A)is false, but (R} 1s truc.

Who among the following had not been involved in floating the idea of permancnt
scttlement for Bengal 7

(1} Alexander Dow (2} Thomas Law

(3)  Montgomery Martin (4)  Philip Francis

Arrange chronologically the following tribal rebellions :
(a)  Rampa (b)  Santal
(¢)y Kol (dy  Munda under Birsa

Sclect the correet answer from the codes given below

Codes :
(1) (b), (), (a), (d) (2)  (c), (b). (&) (d)
(3) (D), (1), (¢), (b) (4 (B, () (e): (a)

Who among the following were revolutionary Icaders ?

(a) Barkatulla (b)  Khizar Havat Khan
(¢y  Oberdulla Sindhi (dy  Mahmud IHasan
Sclect the correct answer from the code given below :

Code :

(1y (a), (h) and (¢} (2y  (a), (h) and (d)

(3} (b), (¢) and (d) (4) (a), {c) and (d)
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A1 &1 A R T E, W e (A) T O S O] (R) el T E

FHAT (A) : [OEFFT T TR S e o5 & 99 & a5 & |

HWOT (R) : T JUeAl T9s] W &vard & 9 A ¢ | 991 2Teen TaHdl 0 2T § HiEd

el Uel Uehed el i FHe T 37Tl & |
SUSH ST Tl o TR 0 A T F e e

(1) (A) 3R (R) a1 gl & 71 (R), (A) F Tel AT G |

(2)  (A) 3T (R) TAT W&l &, W(R), (A) F T&! SN&T 76l & |
(3)  (A)TIE W(R) TAT € |
(4) (A)TeE s W(R) Tl ¢ |

AT o AT FRTer 1 fa=m @ Fg W FElele o 6 S U wiet T8t o

(1) UerRTst B (2) o o
(3y  FIETER T (4) TR wite

r

AT ST [F5 @ Sl TR HTTHI a2 ST

(a)  THT

(b) TATA

(¢c) A

(dy TETeEn & =gea 9 He

AT 8T 0 e ¥ Tal IAL T =3 Y

E A

N

(1} (b), (¢). (a), () (2)  (c), (b), () (D)
(3)  (d), (a), (), (b) (4) (b, (d). (c), (a)

P & < - sFERT e o 2

(a) =T (h) WeE g T
(¢)  EIgeeT e () T EE
He .

(1) (), (b) AT () (2)  (a), (h) @R (d)
(3) (b, (¢) AT () @) (a), (¢) AR (d)
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In which scssion of the Indian National Congress, a policy about the princely states was

first time cnunciated 7
(1} Nagpur, 1920 (2)  Tripura, 1939
(3)  Haripura, 1938 (4y  Karachi, 1931

In which session, Congress passed the resolution ol “Poorna Swara)™ ?
(13 Lahore Scssion (2 Calcutta Scssion

(3)  Madras Session (4 Lucknow Session

Which one ol the lollowing organizations was established i 1942 by the leftiest women

lcaders in Bengal ?
(1y  Mahila Sudharna Samiu (2)  Mahila Samajwadi Samiu

(3)  Mahila Suraksha Samit (4y  Mahila Atmarakshan Samiti

Who among the following was the first Indian women President of Indian National

Congress 7
(1} Aruna Asat Ali (2)  Sucheta Kirpalani
(3)  Sarojini Naidu (4) Latka Ghosh

Match List-I with List-1I and choose correct answer from the code given below :

List-I List-II
(a) Bamabodhini (1) started by Dwijendranath Tagorc
(hy Mahila (1) edited by Umesh Chandra Dutta
(¢) Bharati (111) edited by Girish Chandra Sen
(d) Suprabhat (1v) started by Kumudini and Basant Mitra

Code :

(a) (h) (c) (d)
(1) (1v) (i) (11) (ii)
2y (i) (iy (D) (iv)
(3 (1) (i11) (ii) (iv)
() (111) (1v) (1) (1)
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59, egs SvEe FUE % e siuEeE 1w Eraar oA ¥ u2el g I | & uEaE fwar
T 7
(1) =M, 1920 (2) T, 1939
(3) BRI, 1938 (4y =L 1931

Ex

60. FHUG T T afeEye § o] TS T aEre Wi T o 9

(1) TRR 3I4a9m (2)  FHoThl SATHERH
(3)  TETE 2AHETH (4) THETS STy

61l. ST S STl Higen Fa1AT 9 1942 ° 99 O ¥ g GieT &l ST 60 4l 2
(1) e QeToT Tt (2) AT THSTERT JiHfa

{3} ] FE‘;{T HI?‘TT ﬂﬁqﬁ ﬂ\'—)]-\:l rﬂ%ﬁﬂ STTETTSOT S

62, TEAfETET T W B I T U TR WA W aTemey oy

(1)  2T5UM 3TRTF 37 (2)  TEAT ST
(3) WiE g (4)  wfaeT 9

63. A1 T GA-1] & T YATIT ST TAT e 517 7T 21 ] Feraar § Tal I

Tfi-T TA-11

.

(a) TEENES (1) TESSAe 2N gRT WY

[

(b) TR (i) SHY =g TO7 §R7 G

oy

(¢) W (itty TTaer == |9 g Aee

(dy  FTE (iv) FORET a9 Fo= e §R Uy
HT :

(a) (b) (c) (d)
el (1v) (1) (1) (1)
2y () (1) (1) (1v)
(3 0 (111) (11) (1v)
4) (i) (1v) (i1) (1)
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Khudai Khidmatgars were popularly known as the
(1y  Green Shirts (2y  Red Shirts
(3)y  Black Shirts (4y  White Shirts

Arvasamaji lecader Mr. Harvilas Sarada belonged to which part of India 7
(1}  Rajasthan (2)  Maharashtra
(3)  Gujarat (4)  Punjab

Which area’s communists launched a massive campaign with the slogan “Throw the
American model into the Arabian sca” ?

(1) Area ol Nagpur State (2)  Area of Nizam state
(3)  Area ol NLW. Travancore state (4)  Area ol Bhagalpur

The most militant strugele was the Tebhaga struggele by the Sharc-croppers of Bengal,

They declared that they would not pay ol the crop o the landlords.
| |
| — 2 —
(1) 2 (2) y
@ - @ -
6 2

In which vear the National Congress passcd a resolution calling upon the Indian pecople ‘to
relram from the use of Japanese goods™ ?

(1) 1936 (2) 1937
(3) 1938 @) 1939

Arrange the following events in chronological order :

(a)  Subhash Chandra Bose had a meeting with Mr. Tojo.
(b)  Subhash Chandra Bose arrived at Taiper.

(c)  INA hoists the National Flag on the frec Indian soil.
(d)y  Establishment of Indian National Army.

Sclect the correct answer from the code given below

Code ;
(1) (d), (o). (), (b) (2)  (d), (), (), (b)
(3)  (d), (a). (b), () (4)  (d), (), (). (a)

Who said the following “invoke the aid of the almighty to take me away from this “vale of
tears” rather than make me a helpless witness ol the butchery by men become savage,
whether he darcs to call himsclf a Muslim or Hindu or what not™ ?

1y MK, Gandhi (2y  Abdul Gallar Khan

(3}  Vinoba Bhave (4)y  Maulana Abul Kalam Azad
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RS TERTATI 1 8T A TR 1 | ST o
(1y 9 el e (2) I F AT
(3) B Fel AT (4) s FHoll @

278 FOTST AT &7 e VIR w0 TEd 9 o5 [6 91 8 oar 2
(1) TTErT 2) RN

Ll

(3) T (4) T

Qe

o &13 % WEanedl 7 €0 AR & 91 379 ORI STAE I 6T o7 & SR Tied &l 2R
T H FeR | Y

(1) N e &% & (2) T @ e

(3) I U JEAERT 22 F A (4) RTCTIX o &3

e o SIS FoReTT (TR 31 ST W wE SieE o, fred fEar < Ao w5 o
"‘_;{ \ﬂJ-i“II--'-'{I{M'l. ?:[ ThioT =h1 AT 27eT ?lgtl' :_. \ |

E i 2y
(1) » (2)

(3) (4)

o | = =

TR T 3Tl &l T8 o7 2
(1) 1936 (2) 1937
(3) 1938 (4y 1939

-

T S22 3 FISHATTIR Saredd FHisT :

()  TTATES G i I AT % 9T S |

(by YIS AME H ARYE § AT |

(¢) 3N UF U 3 0T YIRE & O] UYL A FEE |

(d) =TeT T S H T |

A BT 0 e | Wel ST R =T FieT

HIS

(1) (), (). (c), (b) (2)  (d), (¢), (a), (b)
(3) (), (a), (b), (¢) 4y (d), (b), (¢). (a)

=

F T G5 B GEAH, &g 91 F 97 AR F9d 71, 519 J F6 61 Y [T Fen I &, o 39
TR OE ¥ S %I g H FRIiaaa H AT & & 98 Tel 30 5@ W1 g1 ¥ & S 1
o ufemer elatET 9 9 e § 0

(1) TH, Wy (2) 3=l THRER @]

(3) TeFIET WA T et ST HATSTE

——
I
A
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Who among the following described the redistribution of provinces on linguistic basis as

fassassins of nationahsm’ ?
(1 K.M. Munshi (2 Sardar Vallabhbhai Patel
(3)  Jawaharlal Nchru (4) Jamanalal Bajaj

Which one of the following was not an aspect of the official policy of “Apartheid” ?

(1} Racial Segregation.
(2)  Separate but equal development of the Alricans.
(3) Laws prohibiting mixcd marriages.

4 Patromzine native culture ol the Alfncans.
i

Match List-I with List-1I and choose correct answer from the code given below :

List-I List-1T
{Author) (Book)
(ay J.A. Hobson (1) Nco-colonialism, the last stage of Imperialism
(h) lenmn (1) Imperialism : A Study
(¢) K.Nkrumah (1) Imperialism as the highest state of Capitalism
(d} R.H. Tawncy (1v) Religion and the Risc of Capitalism.

Code :

(a) (b) (c) (d)
£l3 (i11) (i1) (1) (iv)
2y M (i11) (iv) (ir)
(3) () (1) (1) (1v)
(4) (1v) (i1) (i11) (1)

Who among the lollowing expressed grave doubts about Ranke’s tall claim regarding

‘objcctive’ and “impartial” history 7

(1)  George Waily, (2) E.H. Carr
(31 Heinrich Von Sybel (4  Dove

In which ycar the ‘non-proliferation” treaty was signed 7
(ry 1936 (2) 1963
(3) 1982 4y 1990
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(1) uA. e (2) WER TEenTE 92

(3) STETETETA TEE (4) AT T

frefetiiae & & i 3T 1 A1 1 =i 37 T8t o7 9
(1) =& gaeRTo]

(2)  ZTRITERAT S 37RO §E faT

(3) e FaEmEl U Aidey & ol e
(4)  TRIRAT 1 o1 TERTT T FTT
-1 T GA-11 F T GHTerd L T4T B2 ) TR I Tl 3T TN

AT TE-11
(1) ()

R R Y
—

(a) S0 BEET () IO ST, § AR WS 3% sUiarasy

B

(b) o= (i) ZURaersd ; U el

[

(¢) o, UTHTE (iit) ZUEes TS T g0 W AT Hiieierd

Rl

(d) U e (iv) TIie=H U2 T g % Hraaiasy

(a) (b) (c) (d)
(1) (111) (1) (1) (1v)
2y () (i) (iv) (in)
(3y  (iD) (111) (1) (iv)
(4) (1v) (i1) (111) (1)

(1) S 2 (2) EUF FT

-,

(3) 2Rk = Wrgae (4) =@

TR Wy o TR g g fer w0
() 1956 (2) 1963
(3) 1982 4y 1990
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